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Task A

Question 1: There are 9 children at the park. There are 5 more
girls than boys. How many girls are at the park?

Question 2: There are 13 children at the party. There are 5
more boys than girls. How many boys are at the party?

Challenge: Create your own version of this type of question.

Task B

Question 1: There are 40 children at running club. There are 8
more girls than boys. How many girls at running club.

Question 2: Tim and Sam have £20. Tim has £7 more than Sam.
How much money does Sam have?

Challenge: Create your own version of this type of question.

Answers:
Task A: Question 1: 7 girls  Question 2: 9 boys
Task B: Question 1: 24 girls  Question 2: £6.50
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